136.007

sfs > = <
N 2
2z 3
o-. mun A 0 g o I I [
=:L O glglg|g|zlg W
» 5O W SIS|S|S |55 2
S $ s |5 /%)% |g|s| N
3i0 2|8 v
w O <2 a
- =0 (@)
o = = M o
z (<« Yz N
< |2 S0 g W
= w g 9
o_|O «|o SHle)
< nZ2 . S| &
593 0|3 |.¢ 55 &
2 < = 2 X (3 X
oxMa W |8 S|z
=W | <I[E] clal LW
o3 ;| @ |85 NERY
<3N 8|05k Nl
ok 2k o Yy
ax0o Mio|ss 2l g Q.
© SISl 2 B 5224
O L de | 2|Eg8sEEEY 55 2] o
p - = B EHEHEEEE
O E3(B2RZ| RS EIEE B
=
. 4
2L+ 3
N2 8
O £
m.u = X D
< O -
O n_._..u_ S 3
mmwm
=~ S 0
ER
& DO
<
[0))]
% i
e S X
rAIMSEE0A ANNY AN g o
_// P ESH+E15T—06' %002 =& Soeat M
rIIMSYE0A ANNY a 1N _ _ _ g of= .
< 82T PEIET | 068 T~tewr ElLi—8BGT -
&
SRR 8T St
w EEE o
5§ S8’ S S
SREEE . -26'0S1{ 60T+ €10 - SsssSs 64701 ¥
185888 vaost|esoarl oro 4 SiEE FESES ] 2
700 - - - - mo.mw__. s L .
gusySY S18'0ST+22'0S1+ 800 FucE - 0000 -
N =
an
~1/'0GT{G90GT | £00 S9'V6
63081182 0ett 404 G908
< 5|8
S ofgo
3 £l
-/S'0STHES0STT +00 - 00708 1
-#S'0GT{ 1S'0ST | 200 - 189/ A
~€G'0ST{ 0S'0ST | €070 00'G/
-2S'0GT+/'0ST+ SO0 - 0070/
F6%'0GT+1¥'0ST+ 800 - 00709 |
N
S F9%'0GT+0%'0GT+ 900 , - 00°0G
S mmmm £
-v¥'0STH{ 1#0ST | €00 REZSq| ror vy
ThaR®
FE¥'0GT+21'0ST+ 100 - 00°0%
-0¥'0ST+/+'0ST+ 80'0- - 00°0€ 1
/€081 /¥'0ST | OT'0- -21'2e
o cedeiTeroelT 8b4- A
“83588
;N D 22 .
§283r 3 -8E'0GT{6+°0ST | 11°0- §e2l £6°ET -
Sgyned \ RN
e : FT¥'0GT+2G'0GT+ TT°0- - " - 00°0T 1
o
-9%'0G1{ SS'0ST | 60'0- F¥2'G04 &
+
o
F€S'0GT+09'0GT+ £0°0- - 00700
-/9'0G1+0/'0GT+ £0°0- - 00706 1
N
2
-08'081 28051+ 20'0- - 00708
-76'0GT+E6'0STT 00'0 - 0070/
\ -20'TSTH #0'IST | 20°0- 78'€9 1
-OTTST 4 TT'1GT 1 10'0- s § | 0009 ]
ol=
x ~
o 1]
~
F1E'1GT 162'16T+ 200 - 00°0G
N
N
2
-2G'IST+GY'ISTT 00 - 00°0% 1
“¥/'1GT+89'1GT+ SO0 - 00°0€ |
I -18'1GT4 08'IST | 100 09792 1
F¥6'1GTHE6'IGTT 100 - 00°02
8ok %
E¥853S 160'2ST+0T'28T 1 10°0- S5t L - 80°0T A
0. & Eigs o
ST & o
Y o
+
-81'251{02'2GT | 20°0- L¥204 ©
-02'2814+22'2G1+ 20'0- - 00700
! serles _ S5 Loy
¥2'281{62'2ST | ¥0'0- 2|2 FevEs-
x|y
92'281+2€'281+ 90'0- S~ 0006 -
5 62'2C8T{ 1£°2GT | 20°0- << SI'E8 -
3 -0£'2GT+1€'25T+ 00'0 gls [0008
-2£'25T{0€°2S1 F 200 — 1= 1829/
FGE'2GT+2€'2GT+ €00 - 0070/
I F9E'28T{EE2ST| 00 F9/99 1
-BE'ESTTSE'ESTT EO'D A F90°8% 1
Wlm € _ g 8
BYSSSE | £eld
“NZ3BR | Sag@e .
E 86 S M LE2GT{LERST| 000 S5EL - L6'€G
§zynad \ piEE
T " GE'2ST+9€°2GTT 10'0- * - 00706 1
_ ‘osaliPocatt 1882 " §90%
FET'2GT 12611 10'0- - 00°0€ |
N
J
F00'2GT+/6'1GT+ +0'0 - 00702 1
-88'1G1+68'1GT+ 10'0- , - 00°0T |
5B BB el 194 S5230 AR 2
g & I . i . | Mp__nh_Tﬁ i \ | ©
SREeee 8/'1ST+8/'1ST1 100 c o8 0000 -
SIS M,M,M o . ' ' mmm,_:ﬂ_v p
Mﬂmmmw O£181{G£1BTF B 1 Eris -87°86 1
Eg oo LN
NS N
a N
~6/'TGT+6/'1GT+ 00'0 - 00706 1
-18'1GT4 18'1GT | 00'0 027481
8 -68'1GT+98'1GT+ €00 - 00°08 1
QS
~
I -663IETTE6'TETT %08 F 8986
o & ..“ . . . ¢
SeE ¢ FET'2GT160°2ST+ +00 < - 00°09 |
858825 Ss38
E=8ea3 -02'251{ 02 25T+ 000 Sgil - 01796 1
N
F£€'28T+E€' 28T+ 100 - 00706 1
_\ -25'251{E£S°2CT | 10'0- FEL2Y A
-09'281+29'2C1+ 20'0- - 00°0% |
Y
&Z\\ -08'2GT{ £/ 2GT} €00 <tE 282t
2.\\ 88'2G11+/8'2G1+ 200 3|5 | 00°0€ |
-G6'28T{E6°2ST €00 D~ G /2
F -#1'E8T t60'EBI+ 668 - 46'82
AR S
X g © < | £
S%s5§s §:3g AR
32ES5S / ‘GEECST{YEESTE 100 Setl Tl prer;
mwmi& -0%'€QTH0Y'€STT 00'0 Euss - 00°0T
QN o
o
® 8¥'EST{67'ECT| 10'0- Sy Fy2'v0q F
nﬁ \ VT oo o
] ] Y ] . ] ] ] ' LC'CCT faYalla 2 faYalda¥al
0 04/— 0 0 G 0 [an) L—\Jmmmﬂ | = &= 2 U0 \ - UU UU OI
Q o Q > o > =
g < ™M d ~— o (o)
0 o o O e e )
c M LU
= > s
=i x| 29
E O ——
o
S > |x | O 2 N
Wikl g | Q
< —
0=l 3| E
5 = | W
cSEIN| 3|2 aln
= 2|9 o S o
m — N — 7)) A
Sww | d T | w|o|k
= < ~ b~ N
e > | > » | O S
S0 3N 3| o 43
®) \ O ~
Txle gl s & 88




	Arkusze i widoki
	Model


